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METCON Question

Current prevailing visibility is 2 SM. The
ATC tower calls and reports tower visibility
as 1/2 SM. How is this encoded in the

observation?

a. In remarks as “TWR VIS 0800”
b. As the prevailing visibility “1/2 SM”

c. Inremarks as “
d. Not required to
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Current prevailing visibility is 2 SM. The
ATC tower calls and reports tower visibility
as 1/2 SM. How is this encoded In the
observation?

a. In remarks as “TWR VIS 0800”

b. As the prevailing visibility “1/2 SM”
c. In remarks as “TWR VIS 1/2”

d. Not required to be encoded
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